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Section A

Put a tick (V') in the box next to the one correct answer for each question.

1  Whatis likely to decrease supply in the salad vegetable market:

(a) Good weather during the growing season

(b) Improvements in farming productivity

(c) Increases in the cost of harvesting

(d) Subsidies for food producers

[1]

2  Which is not a production activity?

(a) Creating digital products

(b) Manufacturing physical products

(c) Providing services

(d) Selling goods

[1]

3 Transport infrastructure refers to:

(a) 3D printing, nanotechnology and robotics

(b) airports, motorways and railway lines

(c) distribution networks, ecommerce and roads

(d) lorries, ships and trains

[1]
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4 Variance analysis data is shown below.

Type of budget | Planned Actual

Total cost £6m £5.5m
Total revenue £10m £9.0m

According to the data, which of the following is true?
(a) Both budgets have favourable variances

(b) Fewer goods were sold than expected

(c) Profit was lower than expected

(d) The total cost budget has an adverse variance

5 One way a gym can add value is by:
(a) charging higher prices for its subscriptions
(b) offering free on-site parking facilities
(c) reducing the number of fitness instructors it employs

(d) requiring all members to wear branded trainers

6 The estimated net cash flow for an investment is shown below.

Year Net cash flow
£

(87000)

22 000

44 000

63000

95 000

A IWINI=|O

The payback period for this investment is:
(a) 2 years 3 months
(b) 2 years 4 months
(c) 3 years 3 months

(d) 3 years 4 months

© OCR 20XX
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7  Anincrease in the number of firms in a market is most likely to lead to:

(a) fewer customers

(b) higher prices

(c) increased competition

(d) reduced productivity

[1]

8 A company’s return on capital employed is 13%.

This means that for every:

(a) £100 of net assets, the company makes a profit of £13

(b) £100 of gross profit, the company had expenses of £87

(c) £100 of revenue, the company’s cost of sales was £87

(d) £100 of total equity, the company makes revenues of £13

(1]

9  Which would be found on an income statement?

(a) Cost of sales, profit for the year, taxation

(b) Dividends, equity, gross profit

(c) Expenses, net assets, operating profit

(d) Reserves, retained profit, revenue

[1]

10 Which is an example of a technological influence on a business?

(@) A pressure group campaigning for greater use of technology in schools

(b) An increase in government subsidies for technology companies

(c) Recent innovations in wearable technologies

(d) The increasing popularity of mobile technologies

[1]

© OCR 20XX
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Section B

Read the case study and answer the questions.
Ryugo Ltd

Ryugo Ltd manufactures its own brand of cycling clothing. The company’s founders, Ryan and Hugo,
met while at university. Ryan was studying politics and Hugo was studying business law. Ryugo Ltd’s
stylish, yet functional, product range consists of shorts, leggings, t-shirts and jerseys. The brand is
proving popular with under 35s who cycle to work.

Ryugo Ltd supplies sportwear retailers and specialist cycle outfitters across the UK. After three years of
trading, the company now has 75 employees who produce hundreds of items a day in a range of
designs, colours and sizes. On average, Ryugo Ltd sells its clothing to retailers for £60 per item with
variable costs of £12 per item. The company’s fixed costs, including storage costs, are currently £350
000 per month. Ryan and Hugo both invested personal savings in the company. They hope that this
year the company might turn its first profit. The company has a low gearing ratio.

Recently the company has experienced the following problems:

political sanctions causing supply issues for carbon black, an important raw material
volatile exchange rates causing severe fluctuations in the cost of fabrics

out-of-date stocks of perishable rubber compound needing to be destroyed

damage to work in progress due to a spillage in the cluttered sewing room

needing to use a cleaning cupboard to store high inventory levels of winter jerseys
being unable to supply a large order for t-shirts due to uncertainty over stock levels
customers cancelling orders due to delays in dispatching some sizes and colours.

Ryan and Hugo have decided that the company would benefit from using inventory control software.
The cost of the software is £15000, plus ongoing licensing and support fees. The purchase will need to
be financed externally. Ryan favours crowdfunding and has drawn up an investor reward scheme (see
Fig. 1). Hugo favours a bank loan. He recommends a 60-month, variable rate loan, available from the
company’s bank with an initial APR of 5.9%.

Fig. 1 Investor reward scheme

Amount invested Rewards
£10- £99 » N <E}{ clushve cap

£100 - £999 " ﬁ\ﬁ, 1 jersey +exclusie cap
iy M—

400 > AT 1 pair of shorts + 1 pair of legaings

5 < :‘:\* V.:\ +1 t-zhirt + 1 jersey + exclusive cap

2 pairs of shots + 2 pairs of leggings +2 tshits
+ 2 jerseys + gxclusive cap + imvestor dinner

£5000+

Ryan and Hugo both hope that the inventory control software will allow them to scale up

operations. They wish to begin selling abroad. They have chosen the Japanese market. Japan has a
population of 127m and an average ownership of 0.67 bicycles per person. The owners have further
plans to export to businesses in America and Australia in due course.

© OCR 20XX



11

(@) State what is meant by the term ‘profit’.

(b) Calculate the minimum number of items of clothing Ryugo Ltd needs to sell this year to avoid
making a loss. Show your workings.

12 Analyse two advantages for Ryugo Ltd of inventory control.

© OCR 20XX



13 Ryan and Hugo are considering the following sources of finance to fund the purchase of the
inventory control software for their business:

e crowdfunding
e bank loan.

Analyse both sources.

Recommend which source of finance is most suitable for Ryugo Ltd.
Justify your answer. [14]
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14* Evaluate potential challenges to Ryugo Ltd of selling its range of cycling clothing to businesses in
Japan. [14]
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Section C
Read the case study and answer the questions.

Merlin Entertainments Limited

Merlin Entertainments owns and operates 141 tourist attractions across 23 countries. In the UK these
include Legoland, Madame Tussauds, Cadbury World, Sea Life aquariums and the London Eye, as well
as several branded theme parks including Alton Towers, Chessington World of Adventures and Thorpe
Park. Merlin Entertainments focuses on providing a high quality of experience to its guests. Delivering
uplifting experiences with exceptional service is a core element of its purpose.

In 2022 Merlin Entertainments began outsourcing some of its food and drink provision. This included
outsourcing the entire supply of food and drink at all of its UK theme parks. Aramark is Merlin
Entertainments’ chosen specialist provider in the UK. Merlin Entertainments no longer receives
revenue directly from visitor spending on food and drink. Instead, it receives payments from Aramark
under the terms of the contract to supply.

Merlin Entertainments made a loss of £17m in 2023, compared to a profit of £89m in 2022.
Nevertheless, the company’s annual statement reported increased visitor numbers (see Fig. 2 for
Merlin Entertainment’s infographic). The company also reported its highest ever revenues (see Fig. 3
for Merlin Entertainment’s infographic).

Fig. 2 Merlin Entertainments Limited Fig. 3 Merlin Entertainments Limited
visitor numbers 2021 - 2023 revenue 2021 - 2023
VISITORS +12.8% REVENUE e

0 [ 3 [

2022 55.1 2022 1,960
2021 5.2 2021 1.261

The company attributes its increase in visitor numbers to robust demand for ‘enjoyable experiences’,
(especially in the UK, Asia Pacific and continental Europe). The increased revenues are due to
admission fees (including annual passes, multi-day tickets and day admittance) from high visitor
numbers. They are also due to increased spend per guest (on commercial goods such as onsite sales
of retail merchandise and souvenirs such as photos).

Merlin Entertainments monitors its liquidity position closely. It reviews 3-month cash flow forecasts for
all of its attractions on a weekly basis. It also keeps the availability of sources of finance under constant
review.

The company’s borrowings fell slightly to £3712m at end of 2023, from £3807m at end of 2022.

However, Merlin Entertainments’ finance costs increased due to higher interest rates and unfavourable
movements in exchange rates affecting loans not in Pounds Sterling (£).

© OCR 20XX
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Selected end of year balances for Merlin Entertainments are shown in the table below.

End of year balances: 2(%2;’) 2(%25)
Current liabilities 554| 627
Current assets 443| 529
of which:
inventories 69 61
cash and cash equivalents 164| 266

© OCR 20XX



13

15
(@) Explain one way of managing operational quality in a business.

................................................................................................................................................ [2]
(b) Explain one likely reason why Merlin Entertainments focuses on providing a high quality of
experience to its guests.
................................................................................................................................................ [2]
16 Analyse one advantage and one disadvantage for Merlin Entertainments of outsourcing its
provision of food and drink at its UK theme parks.
................................................................................................................................................ [8]

© OCR 20XX
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17 The demand for Merlin Entertainments’ UK theme parks is likely to be affected by a range of
market factors including:

¢ the income of customers
¢ the price of substitutes.

Analyse both factors.

Recommend which factor is likely to have the greatest impact on the demand for Merlin
Entertainments’ UK theme parks.

Justify your answer.

© OCR 20XX
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18*  Using calculations of the current ratio and the acid test ratio, evaluate Merlin Entertainments’
liquidity position. [14]
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Section B
Question Answer Mark Guidance
11a State what is meant by the term ‘profit’. 1 One mark for identification.
Responses include: (AO1 1) | Answers do not need to relate to Ryugo Ltd.
e Money leftover once expenses have been paid
e The amount by which revenue exceeds costs Do not credit the formula for profit or how to calculate profit.
¢ Financial reward for enterprise
ARA
11b Calculate the minimum number of items of 3 Credit three marks for correct answer (with or without working)
clothing Ryugo Ltd needs to sell this year to avoid i.e. 87,500 items.
making a loss. Show your workings. (AO2 3)

Credit two marks for a correct numerical answer but with incorrect
Indicative content: units e.g. a pound sign or percentage sign.

Fixed cost = 12 x £350,000 = £4,200,000 (1) Else award one mark for each of the following, if seen (£ signs not

Contribution = £60 - £12 = £48 (1) required).:

Break-even = £4,200,000 = 87,500 items (1) . 25200'0?9:‘&_% (fixed costs)
£48 (of clothing) . (contribution)




H436/02 Mark Scheme Sample Paper

Question Answer Mark Guidance
12 Analyse two advantages for Ryugo Ltd of 8 Use level of response marking grid to assess skill levels.

inventory control.

R includ ::8; :; Annotate as:

esponses Incluce: Uptot ks for knowledge and understanding [KU
e Minimise costs of holding storing (AO3 4) UE tg txg 2:;(: fg: arp])g\llivc(:\tigﬁ and understanding [[APL]
inventory/stock
Y Up to four marks for analysis [AN]/[DEV]

To inform on reorder levels and timings
Reduce risk of stock outs

Minimise risk of damage to stock

To communicate effectively with suppliers
To expedite procurement when needed
To provide inventory/stock updates to
customers

Effective cash flow forecasting

Application may include:

Supplier issues with carbon black
Exchange rates volatile affecting cost of fabrics
Perishable rubber compound needed to be
destroyed
Spillage in sewing room
Using a cleaning cupboard to store winter
jerseys
Being unable to supply a large order for t-shirts
due to uncertainty over inventory/stock levels
Orders being cancelled due to size/colour
supply issues

ARA

NB responses can relate to stock of raw materials, finished good or
work in progress.
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Q12 Analyse two advantages for Ryugo Ltd of inventory control.

Knowledge & Application Analysis
Understanding (2 marks) (4 marks)
(2 marks)
Strong 2 marks 2 marks 4 marks
Knowledge of two Application to Ryugo Ltd Developed analysis of two
advantages of inventory of two advantages of advantages of inventory
control. inventory control. control.
[KU] [APP] [DEV]
Good 3 marks
Developed analysis of one
advantage of inventory control.
[DEV]
Reasonable 1 mark 1 mark 2 marks
Knowledge of one Application to Ryugo Ltd Basic analysis of two
advantage of inventory of one advantage of advantages of inventory
control. inventory control. control.
[KU] [APP] [AN]
Limited 1 mark

Basic analysis of one

advantage of inventory control.

[AN]

Sample Paper
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Question Answer Mark Guidance
13 Analyse both sources of finance. Recommend 14 Use level of response marking grid to assess skill levels.
which source of finance is most suitable for
Ryugo Ltd. Justify your answer. (AO12) | Apnotate as:
(AO2 2) .
Responses include: (AO3 4) Bp :o :wo marll:s :or knO\llyle?ge and understanding [ilFJ'L
¢ Crowdfunding e.g. does not need to be paid (AO4 6) p o tWo marks for app |ca. lon [ ]
back, can be used as a promotional tool, Up to four marks for analysis [ANJ/[DEV]
uncertainty over how much will be raised, need Up to six marks for evaluation [EVAL]/[EE]

to give out rewards, etc

Bank loan e.g. monthly instalments, needs to
be paid back, interest charged, changeable
interest rate, etc

Application may include:

Software costs £15,000
Already has fixed costs of £350,000 per
month/£4.2m per annum
Not yet made a profit
Bank loan interest £885 per annum (simple
interest)/£4425 over 5 years
Rewards also advertise the clothing
Difficulties creating an equitable award
scheme (£100 most lucrative for investors)
Crowdfunding gives no incentive to invest
more than £5000
Currently has a low gearing ratio
Both owners have personal savings invested in
the business

ARA

Justification can support either method. Reasoning is likely to weigh
up the advantages and disadvantages of both methods. Responses
may also try to compare the bank loan cost with the cost of the
rewards or consider the importance of avoiding being highly geared,
especially until the owners receive a return on their investment.

10
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Q13 Ryan and Hugo are considering the following sources of finance to fund the purchase of the inventory control software for
their business:
e crowd funding
e bank loan.

Analyse both sources. Recommend which source of finance is most suitable for Ryugo Ltd. Justify your answer. [14]
Knowledge & Application Analysis Evaluation
Understanding (2 marks) (4 marks) (6 marks)
(2 marks)
Strong 2 marks 2 marks 4 marks 5-6 marks
N Developed analysis of an A justified evaluation as to which
Knowledge of an Application tgaiRvugo Lid advantage/disadvantage for | sources of finance is most suitable
advantage/disadvantage . of an advantage/ both of the sources of finance. | for Ryugo Ltd, including why the
for both of the sources of | disadvantage for both of [DEV] alternative is less suitable
finance. the sources of finance. (with explicit use of the context).
[KU] [APP] [EE][EE]
Good 3 marks 4 marks
Developed analysis of an A justified evaluation as to which
advantage/disadvantage for one | ©f the sources of finance is most
of the sources of finance. _ suitable for Ryugo Ltd
[DEV] (with explicit use of the context).
[EE]
Reasonable 1 mark 1 mark 2 marks 2-3 marks
L Basic analysis of an A justified evaluative comment as
adv Sr?tzwtlsgiizg\]::r?ta e Appgfztrl‘og dt\?alr:\]’éugeo/ Ltd advantage/disadvantage for | to which of the sources of finance
9 9 ¢ 9 both of the sources of finance. | is most suitable for a business.
for one of the sources of | disadvantage for one of
. . [AN] [EVAL] [EVAL]
finance. the sources of finance.
Limited [KU] [APP] 1 mark 1 mark
Basic analysis of an A basic assertion as to which of
advantage/disadvantage for one |  the sources of finance is most
of the sources of finance. suitable for a business.
[AN] [EVAL]

11
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Question Answer Mark Guidance
14* Evaluate potential challenges to Ryugo Ltd of 14 Use level of response marking grid to assess skill levels.
selling its range of cycling clothing to businesses
in Japan. (AO12) | Apnotate as:
(AO2 2) ,
Responses include: (AO3 4) Bp :o :wo marll:s :or knO\llyle?ge and understanding [ilFJ'L
e Exchange rates e.g. conversion, volatility (AO4 6) p fo tWo marks for app |ca. 'on [ ]
« Customs e.g. documentation Up to fc?ur marks for analys'ls [AN]/[DEV]
e Exports e.g. UK's Japanese free trade Up to six marks for evaluation [EVAL)/[EE]

agreement, possible tariffs and quotas
Transportation issues e.g. speed, cost
Language barriers e.g. communication
Cultural barriers

Differing political environments
Differing legislation

Application may include:

Ryan studied politics at university
Hugo studied business law at university.
First overseas market
Japan population of 127m
Japan bicycles per person 0.67
Number of bicycles in Japan 85m
ARA

See appendix A for Quality of Extended Response marking grid —
statements with appendix A should be taken into account when
marking AO4.

Evaluation is likely to consider the magnitude or severity of the
problems exporting in general and to Japan in particular. It may also
weigh up the timeframe of the challenges i.e. are they one off on
entry to the market or ongoing. Responses may consider the relative
popularity of cycling in Japan, the size of the target market,
differences in climate and the degree of westernisation. It may also
include the extent to which Ryan’s political understanding and
Hugo’s legal knowledge might reduce the challenge. Ryugo’s next
markets, America and Australia, might have been a better choice of
first export market given they have a greater similarity of culture and
language.

12
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Q14* Evaluate potential challenges to Ryugo Ltd of selling its range of cycling clothing to businesses in Japan. [14]
Knowledge & Application Analysis Evaluation
Understanding (2 marks) (4 marks) (6 marks)
(2 marks)
Strong 2 marks 2 marks 4 marks 5-6 marks

Breadth of knowledge of
the challenges of selling

Breadth of application to
Ryugo Ltd of the

Developed analysis of the
challenges of selling abroad.

A justified evaluation as to
which challenge is the greatest

abroad. challenges of selling to [DEV] for Ryugo Ltd, including why the
[KU] Japan. alternative is less challenging
[APP] (with explicit use of the context).
[EE][EE]
Good 3 marks 4 marks
Developed analysis of a A justified evaluation as to
challenge of selling abroad. which challenge is the greatest
[DEV] for Ryugo Ltd
(with explicit use of the context).
[EE]
Reasonable 1 mark 1 mark 2 marks 2-3 marks
Knowledge of a challenge | Application to Ryugo Ltd Basic analysis of the A justified evaluative comment
of selling abroad. of a challenge of selling to | challenges of selling abroad. judging the challenge to a
[KU] Japan. [AN] business of selling abroad.
[APP] [EVAL] [EVAL]
Limited 1 mark 1 mark

Basic analysis of a challenge
of selling abroad.
[AN]

A basic assertion judging the
challenge to a business of
selling abroad.
[EVAL]

13
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Section C

Question Answer Mark Guidance

15a Explain one way of managing operational quality 2 One mark for identification of an identification plus one further

in a business.

Responses include:
e Quality control
e Quality assurance

ARA

(AO12)

mark for explanation.
Answers do not need to relate to Merlin Entertainments.
Example response:

Quality control (1) can be used. This involves the inspection of inputs
and outputs against predetermined standards (1).

14
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Question Answer Mark Guidance
15b Explain one likely reason why Merlin 2 One mark for a valid reason.
Entertainments focuses on providing a high
quality of experience to its guests. Eﬁg; 1; No application marks can be gained without understanding.
Responses include: One further mark for application to Merlin Entertainments.
¢ To meet customer expectations
e Toincrease attendance
e To command a higher price Example response:
* Tosatisfy customgrs Focusing on quality is likely to lead to high levels of customer
* Toreduce complaints satisfaction (1), leading to visitors recommending the theme park to
* Toencourage repeat custom family and friends (APP).
e To maintain a positive reputation
e To strengthen its branding
e To bolster brand/corporate image
e To gain advantage on the competition

Application may include:

e Increased visitor numbers in 2023
62.1m in 2023 vistors cf 55.1 in 2022
Revenue of 2.125m in 2022 cf £1960m in 2022
Made a loss of £17m in 2023
141 tourist attractions across 23 countries
Branded theme parks
Delivering uplifting experiences is its purpose
Robust demand for enjoyable experiences
Retail merchandise and souvenirs
Increased spend per guest
Entertainment industry competes with other
tourist attractions

ARA

15
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Question Answer Mark Guidance
16 Analyse one advantage and one disadvantage for 8 Use level of response marking grid to assess skill levels.
Merlin Entertainments of outsourcing its provision
of food and drink at its UK theme parks. (AO12) | Apnotate as:
(AO2 2) .

Responses include: (AO3 4) Bp Io :wo maris :or knO\II.\/Ie?ge and understanding [fpﬂa

¢ Advantages e.g. managing capacity, cost p to two marks for app |ca. lon [ ]

reduction, focus on core activities, increased Up to four marks for analysis [AN)/[DEV]

specialisation, increased efficiency, higher
quality service, benefits of being linked to a
leading brand, etc

Disadvantages e.g. loss of control, more
difficult to manage, reduced confidentiality,
less flexibility, conflict of organisational
objectives, etc

Application may include:

141 tourist attractions
Focus on quality and exceptional service
Increased visitor numbers in 2023
62.1m in 2023 vistors cf 55.1 in 2022
Revenue of 2.125m in 2022 cf £1960m in 2022
Made a loss of £17m in 2023
Delivering uplifting experiences is its purpose
Robust demand for enjoyable experiences
Retail merchandise and souvenirs
Entertainment industry competes with other
tourist attractions
Increased spend per guest

ARA
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Q 16 Analyse one advantage and one disadvantage for Merlin Entertainments of outsourcing its provision of food and drinks at its

UK tourist attractions. [8]

Mark Scheme

Knowledge & Application Analysis
Understanding (2 marks) (4 marks)
(2 marks)

Strong 2 marks 2 marks 4 marks

Knowledge of one Application to Merlin Developed analysis of one
advantage and one Entertainments of one advantage and one
disadvantage of advantage and one disadvantage of outsourcing
outsourcing. disadvantage of [DEV]
[KU] outsourcing
[APP]

Good 3 marks
Developed analysis of one
advantage/disadvantage of

outsourcing.
[DEV]
Reasonable 1 mark 1 mark 2 marks

Knowledge of one
advantage/disadvantage
of outsourcing.
[KU]

Application to Merlin
Entertainments of one
advantage/disadvantage
of outsourcing.
[APP]

Basic analysis of one
advantage and one
disadvantage of outsourcing.
[AN]
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Mark Scheme

Limited

1 mark

Basic analysis of one
advantage/disadvantage of
outsourcing.

[AN]

18
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Question Answer Mark Guidance
17 Analyse both market factors. 14 Use level of response marking grid to assess skill levels.

Recommend which factor is likely to have the

greatest impact,on the demand for Merlin (AO12) | Annotate as:

Entertainments’ UK theme parks. Justify your (AG22) Up to two marks for knowledge and understanding [KU]

answer. (AO3 4) o

(AO4 6) Up to two marks for application [APP]
Responses include: Up to four marks for analysis [AN]/[DEV]
e Income of customers e.g. higher income Up to six marks for evaluation [EVALJ/[EE]
increases demand/lower income reduces
demand/direct relationship between income
and demand, leisure industry, tourists, holiday
makers, luxury good, discretionary spending, Justification is likely to way up the magnitude of the impact of both
high YED (>1), etc factors or the seriousness/longevity of the factors or likelihood of the
e Price of substitutes e.g. higher price of factors occurring. Either factor can be chosen so long as the reason

substitutes increases demand/lower price of justifies its selection. Considerations may include the leisure market
substitutes reduces demand/inverse Merlin Entertainments operates in, the nature of discretionary
relationship between price of substitutes and spending and YED. It may also consider the strength of theme park’s
demand, closeness (similarity) of substitutes, branding and guests desire to visit several tourist attractions. For the
quality of substitutes, location of substitutes, price of substitutes the justification may also consider how Merlin
may visit multiple attractions, strength of own Entertainments other tourist attractions/non-UK theme parks compete
brand, Merlin’s other tourist attractions/non-UK against its UK provision.

theme parks, etc

Application may include:

e Tourism and entertainment market

e |ts theme parks in the UK are branded

o Competition from own attractions in other 22
countries

o Competition in the UK from Merlin’s UK non-
theme park attractions e.g. Legoland, Madame
Tussauds, Cadbury World, Sea Life, the
London Eye

e Focus on quality and exceptional service

19
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Increased visitor number in 2023
62.1m in 2023 vistors cf 55.1 in 2022
Revenue of 2.125m in 2022 cf £1960m in 2022
Made a loss of £17m in 2023
Delivering uplifting experiences is its purpose
Robust demand for enjoyable experiences in
UK, Asia Pacific and continental Europe
Retail merchandise and souvenirs
Entertainment industry competes with other
tourist attractions
Increased spend per guest

ARA
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Q17 The demand for Merlin Entertainments’ tourist attractions is likely to be affected by a range of market factors including:
¢ the income of customers
¢ the price of substitutes.
Analyse both factors. Recommend which factor is likely to have the greatest impact on the demand for Merlin Entertainments’

UK theme parks. Justify your answer. [14]
Knowledge & Application Analysis Evaluation
Understanding (2 marks) (4 marks) (6 marks)
(2 marks)
Strong 2 marks 2 marks 4 marks 5-6 marks
Developed analysis of the A justified evglugtion as to which
Knowledge of the impact |  Application to Merlin impact on demand of both of r;?g:tir;a‘:;‘;; 'Osn“gg'é’];‘r’]g?(‘)’re&';er”n
on demand of both of the Entertainments of the the market factors. 9 Enter‘taianr)tents tourist attractions,
market factors. impact on demand of [DEV] including why the alternative has a
[KU] both of the market lower impact
factors. (with explicit use of the context).
[APP] [EE][EE]
Good 3 marks 4 marks
Developed analysis of the A justified evaluation as to which

impact on demand of one of the market factor is likely to have the
greatest impact on demand for Merlin

market factors. Entertainments tourist attractions
[DEV]
(with explicit use of the context).
[EE]
Reasonable 1 mark 1 mark 2 marks 2-3 marks
Basic analysis of the impact on Ajltstified evaluativg cqmment asto
Knowledge of the impact |  Application to Merlin demand of both of the market W?r'fh mar{‘ettf.acmr ItS "'“Z'y to hg"e
on demand of one of the Entertainments of the factors. © grea[E%ATffévoArL] emand.
market factors. impact on demand of one [AN]
Limited [KU] of the mi'llgle:t factors. 1 mark r——
[ ] Basic analysis of the impact on | A basic assertion as to which market
demand of one of the market factor is likely to have the greatest
factors. impact on demand.
[AN] [EVAL]
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Question Answer Mark Guidance
18* Using calculations of the current ratio and the acid 14 Use level of response marking grid to assess skill levels.
test ratio, evaluate Merlin Entertainments’ liquidity
position. zzg; 3 Annotate as:
Responses include: (AO3 4) Up to two marks for knowlgdge and lJ.ndrlerstandlng [KU]
«  Ability to turn assets into cash (AO4 6) Up to two marks for quantitative application [APP]
o Ability to pay short term debts Up to four marks for analysis [AN]/[DEV]
e Concerned with solvency Up to six marks for evaluation [EVAL]J/[EE]
e To avoid bankruptcy/liquidation . . , o
« Sufficient cashflow for operations Application refers to the use of given data to demonstrate quantitative

skill. Candidate should undertake the calculation of both liquidity

Application may include: ratios.
) ngrrzeggga/g%io ?)383?334505 g: 0.799 = 0.80; See appendix A for Quality of Extended Response marking grid —
, A, ’ _ _ statements with appendix A should be taken into account when
e Acid test ratio: 2023 (443-69)/554 = 0.675 = marking AO4

0.68; 2022 (529-61)/627 = 0.746 = 0.75

Evaluation may consider mitigating factors such as cash-flow
forecasting, reviewing of debt markets, being a large well-known firm,
robust demand, increasing visitor numbers, increased customer spend
and multiple income streams. It may also consider risks such as
interest rates and exchange rates or review historic ratios to judge
whether they were sufficient in the past. Evaluation could also include
suggested courses of action for Merlin Entertainments such as
lowering inventory, reducing current liabilities or increasing current
assets.

ARA

Do not credit arguments relating to the acid test ratio being
lower/worse than the current ratio.
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Q18 *Using calculations of the current ratio and the acid test ratio, evaluate Merlin Entertainments’ liquidity position. [14]
Knowledge & Application Analysis Evaluation
Understanding (2 marks) (4 marks) (6 marks)
(2 marks)
Strong 2 marks 2 marks 4 marks 5-6 marks
Breadth of knowledge Correct calculation of Developed (quantitative) A justified evaluation of Merlin
relating to liquidity. both of the liquidity ratios. | analysis of both of the liquidity | Entertainments’ liquidity position
[KU] [APP] ratios. with explicit evaluative use of the
[DEV] ratio data.
[EE][EE]

Good 3 marks 4 marks
Developed (quantitative) A justified evaluation of Merlin
analysis of a of the liquidity Entertainments’ liquidity position

ratio. (with explicit use of the context
[DEV] but with no evaluative use of the

ratio data).

[EE]

Reasonable 1 mark 1 mark 2 marks 2-3 marks
A piece of knowledge Correct calculation of a Basic analysis of factors A justified evaluative comment
relating to liquidity. liquidity ratio. relating to liquidity. as to the value of liquidity for a

[KU] [APP] [AN] business.

[EVAL] [EVAL]
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Limited

1 mark

Basic analysis of a factor
relating to liquidity.
[AN]

1 mark

A basic assertion as to the
value of liquidity for a business.
[EVAL]
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Appendix A — Quality of Extended Response (*) marking grid

Level Marking Criteria (AO4)
4 There is a well-developed and sustained line of reasoning which is
clear and logically structured. Information presented is
relevant/appropriate and substantiated.

3 There is a line of reasoning presented with some structure.

Information presented is mostly relevant/ appropriate and
supported by some evidence.
2 The response has limited structure. Information presented is

sometimes appropriate.

The response is poorly structured. Information presented is rarely
relevant/appropriate.
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